


dy

dx
2x sin(3x) + 3x2 cos(3x)

f(x) = xe−x

f ′(x) =  e−x − xe−x

(1 − x)e−x

f ′(2) = (1 − 2)e−2

= −e−2

∫
1

√2x−1
dx

2

1
∫ (2x − 1)−1/2dx

2

1

[(2x − 1)1/2]1
2

(2(2) − 1)1/2 − (2(1) − 1)1/2

√3 − 1
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2
+

π

4

a ∈ [
π

4
,

11π

4
]

θ

2
+

π

4

tan(a) = √3

a =  tan−1 √3

π

3
,

4π

3
,

7π

3

θ

2
+

π

4
=  

π

3
,

4π

3
,

7π

3

∴ θ =
π

6
,

13π

6
,

25π

6

e2x − 6ex + 8 = 0

(ex − 2)(ex − 4) = 0

ex = 2 or 4



∴ x = ln(2) or ln (4)

ranf = R

domg ∈ [
1

2
, ∞)

∴ ranf ⊈ domg

g(f(x))

f(g(x)) = −4(2x − 1)3/2

∴ domfog ∈ [
1

2
, ∞)

ranfog ∈ (−∞, 0]

y = ln(3 − 0) = ln(3)

y = ln(3 − x)

ey = 3 − x

x = 3 − ey

∫ 3 − eyln(3)

0
dy

= [3y − ey]0
ln (3)

(3 ln(3) − eln (3)) − (0 − e0)

3 ln(3) − 3 + 1

3 ln(3) − 2

(x, y) → (x, −y) → (x, −2y) → (x + 1, −2y) → (x′, y′)

x′ = x + 1

x = x′ − 1

y′ = −2y

y = −
y′

2



−
y′

2
= loge(3 − (x′ − 1))

∴ y′ = −2loge(4 − x′)

√Var(X)

f ′(x) = 6x − 4

f ′(2) = 12 − 4 = 8

−1

8

f(2) = 4

∴

y − 4 =
−1

8
(x − 2)

y =
−1

8
x +

17

4

σp̂ = √
p(1 − p)

n

0.22 =
0.1∗0.9

n

n = 2.25



σ √9

σ σ

0.68∗0.5

0.5

h

4

1

3
 base ∗ height

1

3
πr2

1

3
π(

h

4
)2

h3π

48

V(15) =
153π

48

V(15) =
1125π

16
 cm3

V =
h3π

48

dV

dh
=

h2π

16

π =
h2π

16

h2 = 16

h = ±4

h = 4 since h > 0 [1]


